ah7) Anee le Bouany

/U‘“':l =
div (Hilm) 4 m) = 0 ( T

curl L Hgtmr) =0

Hitm)y — 0 X3+

Hg lm)z ‘{?d h?’-{m 1 D
Atpd = - diV.(m) 0w R\

_ S Hdkw\)mc{x: J [U(Pdlldx 79
= Q im0

il 8
| divon=0)

F |
“'U /
\ v
"m._.) — u

I y [;;é:‘ X = ¥ oL
M

' ’L_ hirt)

\
y
__‘E/JCD{- Lo PUT™ (hyih,s) <t¥) >0 o ]~ i_)“
h=v+az e =hAz+dw T W the, £) = Rt
yv= Av+bivta)  blvi= Jp(\f‘i”—'i:—/)

LD step. Rad open et Woin Vp, Z n CLo, T, V)
Such  that  tor omy hy € H g 2 € X,
Tx( {A;(l’la)) < T_x



i

2 - step ho s Foved ugm}bﬁ 6o Wbl phe Ond
Lo i ugws c(’,zfmadﬂwz \ff h wrt, o wd 2 3V Jpen
b CCLo T Vp)  VaeV,  hylhe, T & H
Thi L Pea] b Vi)
PLT Ch thad) < 2T77) 3 Plha (ho, TR E€H)
PLT Chatho) ) < 2T | hy Uk T71 € )
> }P(?"(O"T’) ¢ Z)



	notes 1
	notes 2



